
 

 

 انتگرالهاي زیر را محاسبه کنید . مثال)
 

)1 I xLnx dx= ∫      )2 cosI x x dx= ⋅∫  

 

) 23 xI x e dx= ⋅∫      )4 tanI Arc x dx= ∫  

 

)5 sinxI e x dx= ⋅∫      ) ( )26 7 5 cos 2I x x x dx= + − ⋅∫  

 

) 2 27 I a x dx= −∫     ) 2
18 .I Lnx dx
x

= ∫  

 

)9 I Lnx dx= ∫      ) ( )10 sinI Lnx dx= ∫  

 

)11 cosaxI e bx dx= ⋅∫     ) 2 212 I x a dx= +∫  

 

) ( )13 1x xI e Ln e dx−= ⋅ +∫     )14 sinI Arc x dx= ∫  

 

) ( )215 2 5 xI x x e dx−= − + ⋅ ⋅∫    ) ( )216 3 6 5 tanI x x Arc x dx= + + ⋅ ⋅∫  

 

) ( )3 217 3 17 . xI x e dx= −∫     ) 118 1I x Ln dx
x

 = ⋅ + 
 ∫  

 

)
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19 .

x Ln x Lnx
I dx

x

 + + − = ∫   ) ( )20 sin . tanI x Ln x dx= ∫  

 

) ( )21 1 1I Ln x x dx= − + +∫    ) ( )3 222 2 3 1 cos 2I x x x x dx= − + −∫  

 

) ( )223 1I Ln x x dx= + +∫    ) ( )2324 I x Lnx dx= ∫  



 

 

) 3
cos25 .
sin

xI x dx
x

= ∫     )26 3 cosxI x dx= ⋅∫  

 

) ( )27 cos 2I Arc x= −∫     ) ( ) ( )2 228 3 2 .sin 3 1I x x x dx= + − +∫  

 

)
2

3

7 129
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x xI dx
x

− +
=

+∫     )30 .sin .cos .I x x x dx= ∫  

 

) 231 .I x Lnx dx= ∫      ) 232
sin

xI dx
x

= ∫  

 

) ( )33
Ln Lnx

I dx
x

= ∫ 

 


